Best model for HELP J104929.142+583007.498 at z = 0.414 x2=2.6
OPTx2=2.65 IRy?=3.67 threshold (OPT IR)=11.31 [um]

Stellar attenuated
----- Stellar unattenuated

1 —— Dust emission
10 m 1] —— AGN emission
= Model spectrum
® Model fluxes
10° [ oObserved fluxes
= \
£ 1071
X
=
[N 10_2 e
ﬁ'.
o iy
S 1 \
10 N

X

074 -

Y 1 3 3,

= ] == (Obs-Mod)/Obs

S ]

S ]

7 ]

¢ 0r--#FYHy-t=b—-T<-------- ol e L L L L L

o ]

) ]

2 ]

5 ]

f_U—l T T UL R | UL R | T

& 10° 10! 102 103 104

Observed wavelength [um]



